EARAROBEEIERT — 2 N— IBISH —F

2017118278 (B) 19EE&HE1H

KM C 2 54 Y 5%—HK BRI R
[A&4£] 1 7% :200,000” ~ 23#%:50,000” ~ 337%&:20,000H” . 43%&:12,000” 53 :8,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N y 44 . o o _ nE—
1l7l7|571>5=5y r 3 EH)%AH 1.(3_4).4 8-8-3-3 | 40.7 6 zzg? %Eég (BEE)
L:Yv—N—FK B:7715 K5 Ll ki
N — b AT ES :34. -1-1- . — BREX (BHE)
2lglg|A—YVRIM LA R 1(73?:;5 e 1 ?_517) FEEN
L:A-T> Y B:a-JrEa7T SHBS
c—igs RIBESE . -0-0— — HERRE (BHE)
sl 6| L—XKFE— LI he [oires 2t 41 2 <4+812> =)
L:AxEFY BIUREZLTILH FHREHS
3 # 3 | ALE— 1:34.8 9-9-8-6 |39.7| — 5 308 | MTZTHRE (BHE)
A . MIBACERS 54.0 i o | (@ J PN
LihN=— B:hYIANRY— B ==
3 7 o3 | BIHEA 1:35.0 4-3-4-4 | M.2| — 4 483 BEX (BHE)
5 3| YITIYILX 56.0 (11/2) ug) | (B JPN#H
R k=t hILEY BAIEYL P S PN
2 = 43 | AMEHEE 1:35.3 5-5-6-9 |41.2| — 10 | 407 |ARER (BHE)
6(7 8| IAF-ATA 6.0 (1172 o) | R A
R:ZFAT—ILK B:tL—% =Eivie
; S, o B3 | LLEHE 1:35.3 6-6-7-5 |41.1| — 3 481 | ETRETA (BEHE)
7(5|5|F17 773> 54.0 (7% (o) | ) Tr-ZbEvar
:T7—=UT74—X BALH—H—-I FHBSE
¢ . . 4t 3 | DNEEFIME 1:35.7 3-4-5-8 |41.7| — 8 49 | FEBC (BHE)
g|8l10| /XY TL—> 54.0 @ we) | (B J PN
R:JG7—3IY7> B:/4yb—ED- e 7 7 — L4
N —: z- : -10-10- — DE—
9 0| L=>5 1 FLF o i 3 2913% 1.(315).9 10-10-10-7 | 40.5 9 (353 ;%Ez‘a (BEE)
LihonNz=— B9z —7 J—YTr—LA
— PnEEIR— :37. -7-9- . — WnE— (BHE
10l 111 Sa=Tz4 R % 3 G 1(357)0 7-7-9-10 | 41.8 7 (4_4; ﬁg@_}é
RWN—5— 9T B:F51>IUREL =5 (&
® 1—F—@EBIERL
1T=7r= 9,6,10,3,8,5,1,7,4,2
20—F— 9,6,3,10,8,5,1,7,4,2
Ja=5= 9,6,7,3,10,8,5,4,1,2
AT =5F= (6,9),7,3,5,4,2,10,8,1
[ N5
B 7 1,830M 714K 7-9 330 e E 7-8 710M JEE 6-7-9 830F
B B 7 200/ 6-7 610/ B = 7-9 970/ EE 7-9-6 13,390M
9 100M 6-9 160 B H 7-9 4,460M
6 1309

ABICOVWTRDTEEERROODE. TR LIV,




